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6cm 12cm

324.1 324.1 324 m2
DID
L=10.5km 25.9 25.9 25 m3
25m3 1.0 1.0 1
317.1 317.1 317 m2
18mm
1443 1443 144




35mm>< 5mm

SS 104.0 = 104. 104
15cm
28.7 = 28. 28
41.3 = 41. 41 m2
DID ,L=4.5kn 2.07 = 2. 2 m3
@t )
13.0km 0.14 2.0 0.07 1.0 = 1. 1
2m3 1.0 = 1. 1
W=0.14 1.0 = 1. 1
->
(29mm 34mm ) 37.0 = 37. 37 m2

M-25,M-30,M-40




t=40mm

[ 113) 317.1 317.1 317 m2
t=40mm
[ 113) 317.1 317.1 317 m2
t=50mm
[ 1313) 37.0 37.0 37 m2
15cm t=1.5mm
106.95 106.95 100
2
CDx-20 30.03 30.0 30.0
( ) 4.4 4.4 4




@t ) (m3) (t/m3)
19.0km 0.924 =< 0.35 / 2.0 0.16 1.0 = 1.0 1 )
«
DID -> , L=10.9%m 0.220 0.004 = 0.224 0.2 m3
W=0.3 1.0 = 1.0 1
(
0.2m3 1.0 = 1.0 1
C ,H=1000mm,3 +2 109.7 = 109.7 109
FMGN-C-Fp3100-Y2Q
) 130mm 200mm
126.0 = 126.0 126
) [200mm 400mm
126.0 = 126.0 126




1.0 1.0 1

|

|

|

|
5.21 5.2 5 m3

|

|

«C ) |
DID  -> , L=10.9km 5.21 5.2 5 m3
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1.760

t=70mm m2 0.058
m3 0.004 0.01t
m2 0.058
m2 0.058
m3 0.004
m3 25.9 £=80mm
m2 324.1 £=80mm
m3 2.07 £=50mm
m2 41.3 £=50mm
m 28.7 £=50mm
m2 317.1
P @18mm m 144.3
SS 35mm m 104.0
150mm m 146.1
m2 317.1 t=40mm, t=40mm
m2 37.0 £=50mm
W=150( s ) m 106.950
Chx 20 m 30.030
? 1.59 (A1,A2)
m 4.402
m3 1.892
SD345 4 D16x9130
SD345 8 D16x6010
SD345 4 D16x8880
D16 (SD345) 476
CDx (20 ) 4
m3 0.924 0.323t
m3 0.220 0.517t




109.9

m3

5.21

13.0

109.7

©24>205

126

©24><160

126

109.7

109.7




1-1.

THbALIE

s 6 A3 (8% A5 [ 86 7 22 70)

\Q
Fo4v—%H _©

IHRFHER b\

H v & — t=10mm

(@]
o

MTESE T

RYIT—€A L FELEZIL

D
m 1.760
t=70mm m2 0.058
m3 0.004 0.01t
m2 0.058
m2 0.058
m3 0.004
@
D
2
(mm) > (mm) (m2)
1 100 150 | 1 0.015 01
0.015
€
(mm) < (mm) (m2)
1 100 180 0.018 01
2 250 X< 100 0.025 02
0.043




e ) G )

SA = 0.015 + 0.043 = 0.058 m2
2)
@ )
(mm) > (mm) (m)
1 100 + 150 | 1 0.500 01
0.500
CD)
(mm) > (mm) (m)
1 100 + 180 | 1 0.560 01
250 + 100 | 1 0.700 02
1.260
@ ) G )
>SL = 0.500 + 1.260 = 1.760 m
3)
( t= 70 mm) t=70mm
@ )
(m > (m (m2) (m (m3)
1 0.100 > 0.150 1 0.015 0.070 0.0011 01
0.015 0.0011
CD)
(m > (m (m2) (m (m3)
1 0.100 > 0.180 1 0.018 0.070 0.0013 01
0.250 > 0.100 1 0.025 0.070 0.0018 02
0.043 0.0031
@ ) G )
>V = 0.001 + 0.003 = 0.004 m3
@ ) G )
SA = 0.015 + 0.043 = 0.058 m2




4)

5)

6)

0.004

0.058

0.058

2.35

t/m3

0.010 t

0.058 m2

0.058 m2



1-2.

1.
(
m3 25.9 £=80mm
m2 324.1 t=80mm
(
m3 2.07 t=50mm
m2 41.3 t=50mm
m 28.7 t=50mm
2.
1)
(
t= 80 mm
Vi = ( 6.100 17.305 3.90 ) x 0.080 = 8.76 m3
(CAD )
V2 = 6.100 17.340 X< 0.080 = 8.46 m3
V3 = ( 6.100 17.305 3.33 ) x 0.080 = 8.71 m3
(CAD ) ( )=V = 25.93 m3
(
t= 50 mm
Vi = 10.350 2.000 < 0.050 = 1.04 m3
V2 = 10.300 2.000 < 0.050 = 1.03 m3
( >V = 2.07 m3




2)

3

4)

Al

A2

A3

Al
A2

L1
L2

6.100

6.100

6.100

10.350
10.300

2.000
2.000

17.305

17.340

17.305

2.000
2.000

10.350
10.300

80

50

50

mm

3.90
(CAD

3.33
(CAD

mm

mm
2.000
2.000

)

)

109.

105.

108.

46

77

89

m2

m2

m2

YSA

324.

20.
20.

12

70
60

m2

m2
m2

)=A

41.

14.
14.

30

35
30

m2

m
m

=L

28.

65

m



1-3.

m2 317.1
P @18mm m 144.3
SS 35mm m 104.0
150mm m 146.1
(
t=40mm
m2 317.1 £=40mm
(
m2 37.0 t=50mm
W=150( , ) m 106.950
@
1)
Al 6.100 >< 16.990 3.48 = 107.12 m2
(CAD )
A2 6.100 >< 16.970 = 103.52 m2
A3 6.100 < 16.970 2.94 = 106.46 m2
(CAD ) SA = 317.10 m2
2) P 18mm
L1 12.720 5.182 8.655
16.890 6.000 = 49.45 nm
L2 16.870 6.000 16.870 6.000 = 45.74 nm
L3 12.900 4.905 8.439
16.870 6.000 = 49.11 nm
>L = 144.30 m




3

4)

@

D

®

D

L1 =

L2 =

L1 =

L2 =

Al =

A2 =

A3 =

Al =
A2 =

W=150(

12.770

16.970

12.950

12.770
16.990

16.970

12.950
16.970

6.100

6.100

6.100

10.350
10.300

SS

5.345

16.970

5.070

5.345
6.100

6.100

5.070
6.100

16.990

16.970

16.970

1.790

1.790

16.990
17.730

35mm
16.990 35.11 m
33.94 m
16.970 34.99 m
>L 104.04 m

150mm

8.923
50.13 m
16.970 6.100 46.14 m

8.711
49.80 m
>L 146.07 m

80 mm ( 40mm+ 40mm)
3.48 107.12 m2
(CAD )
103.52 m2
2.94 106.46 m2
(CAD ) ( )SA 317.10 m2
50 mm ( 50mm)
18.53 m2
18.44 m2
( )=A 36.97 m2
16.970 16.970

16.970 17.630 106.950 m



1-4.

Al P1 P2 A2
20 m 9.130 6.010 | 6.010 8.880 30.030
) 0.24 0.53 0.53 0.29 1.59 (A1,A2)
m 1.220 0.876 | 0.876 | 1.430 | 4.402
m3 0.575 | 0.379 | 0.379 | 0.559  1.892
SD345 4 4 D16x9130
SD345 4 4 8 D16x6010
SD345 4 4 D16x8880
D16 (SD345) 144 96 96 140 476
(20 ) 1 1 1 1 4
m3 0.288 | 0.178 | 0.178 | 0.280 0.924 0.323t
m3 0.089 | 0.022 | 0.022  0.087 0.220 0.517t
1) SS400 + + SD345 +
Al 20 ( ) L= 9.130 m
P1 20 ( ) L= 6.010 m
P2 20 ( ) L= 6.010 m
A2 20 ( ) L= 8.880 m
2)
Al 10 mm X< 20 mm L= 1220 m
= 0.010 < 0.020 < 1.220 = 1000 0.24 )
P1 30 mm < 20 mm L= 876 m
= 0.030 < 0.020 < 0.876 x< 1000 0.53 )
p2 30 mm X 20 mm L= 876 m
= 0.030 < 0.020 < 0.876 1000 0.53 )
A2 10 mm = 20 mm L= 1430 m
= 0.010 < 0.020 > 1.430 x< 1000 0.29 )




3

4)

5)

6)

7

Al
P1
P2
A2

Al

P1

P2

A2

Al
P1
P2
A2

Al
P1
P2
A2

Al
P1
P2
A2

D16
D16
D16
D16

D16
D16
D16
D16

X X X X

1.220
0.876
0.876
1.430
9.130 =< 0.350
9.130 < 0.350
0.575 m3
6.010 > 0.350
6.010 < 0.350
0.379 m3
6.010 > 0.350
6.010 < 0.350
0.379 m3
8.880 > 0.350
8.880 > 0.350
0.559 m3
SD345
9130
6010
6010
8880
20
20
20
20

> 0.090
=< 0.090
> 0.090
=< 0.090
> 0.090
=< 0.090
> 0.090
=< 0.090
SD345

0.090
0.090

0.090
0.090

0.090
0.090

0.090
0.090

1.220
0.876
0.876
1.430

A A D b

144
96
96

140

N = S =

= 3 3 =3



8)

9

Al

P1

P2

A2

Al

P1

P2

A2

<<
1

<<
1

<<
1

V=
W=

0.140 =<
0.

0.175 X
0.

0.175 X
0.

0.210 =
0.

210 =
0.288

155 <
0.178

155 <
0.178

140 >
0.280

.288

0.924 X<

.350

0.350
0.089

.350

0.350
0.022

.350

0.350
0.022

.350

0.350
0.087

0.089

.220 <

0.090 < 9.130

0.090 =< 9.130
m3

0.090 < 6.010

0.090 < 6.010
m3

0.090 < 6.010

0.090 < 6.010
m3

0.090 < 8.880

0.090 =< 8.880
m3

0.178 0.178
0.35 t/m3

0.140 ) X
0.210 ) X
m3

~

0.175 ) x
0.155 )
m3

~

0.175 ) x
0.155 )
m3

~

0.210 ) <
0.140
m3

A
X/‘\

0.022 0.022
2.35 t/m3

(

(

(

(

0.280

0.090
0.090

0.090
0.090

0.090
0.090

0.090
0.090

0.087

0.050 )
0.080

0.080 )
0.080

0.080 )
0.080

0.080 )
0.050

A

>

)

0.924 m3
0.323 t
9.130
> 9.130
6.010
> 6.010
6.010
=< 6.010
8.880
> 8.880
0.220 m3
0.517 t



1-5.

m 109.9
m3 5.21
t 13.0
1) ( )
L1= 19.557 + 17.670 19.648 = 56.88 m
L2= 17.670 + 17.670 17.670 = 53.01m
Sl= 109.89 m
2) ( )
V1= 0.150 > 0.200 109.89 = 3.30 m3
v2=  ( 0.150 + 0.200 > 1/2 0.623
< 0.150 > ( 32 30 ) = 1.01 m3
V3= 0.050 > 0.080
( 19.082 - 0.150 10 ) x = 0.14 m3
V4= 0.050 > 0.080
( 17.155 - 0.150 9 ) = = 0.13 m3
V5= 0.050 > 0.080
( 19.095 - 0.150 10 ) x = 0.14 m3
V6= 0.050 > 0.080
( 17.165 - 0.150 9 ) = = 0.13 m3
V7= 0.050 > 0.080
( 17.173 - 0.150 9 ) x = 0.13 m3
V8= 0.050 > 0.080
( 14.967 - 0.150 8 ) = = 0.11 m3
V9= 0.150 > 0.450 1.753 = 0.12 m3
>t= 5.21 m3
3) ( 2.5t/m3 )
W= 5.21 =< 2.5 = 13.0t



1-6.

1.
109.7
P24><205 126
24160 126
109.7
109.7
2.
1)
L= = 109.683
2)
D
N= = 126
2)
N= = 126
3) )
L= = 109.683
4)
L= = 109.683
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